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JE\E=H] 439 -2 196 -1 243 -1 191 -1
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KEH] 49 -1 13 0 36 -1 27 -1
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==l 90 0 38 0 52 0 22 0
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] 239 2 112 3 127 -1 111 1
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NET 105 4 49 2 56 2 48 1
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EREFHTER ) 1,761 -11 850 -8 911 -3 598 -8
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TEE—TH 457 -1 202 -1 255 0 203 0
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EMPRET T B 567 -1 268 2 299 -3 250 2
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FH—TH 129 -1 56 -1 73 0 55 0
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RAFEIU T B 367 1 168 0 199 1 151 -2
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AFH—TH 136 -2 60 0 76 -2 63 -2
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AFH=TH 147 -2 76 -1 71 -1 75 -1
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TERER—TH 1,355 8 657 1 698 7 563 2
TEREIR”"TH 374 2 182 1 192 1 148 2
TEREIR=TH 736 0 366 -3 370 3 305 1
T2REIRIUT B 1,136 1 555 -3 581 4 443 3
TEREERATH 1,160 -43 688 -41 472 -2 627 39
TARETERATH 660 -5 357 -1 303 -4 333 -3
TERERETH 1,423 -15 687 -5 736 -10 561 1
TERETERNAT B 1,378 -18 655 -10 723 -8 603 -7
TEREIRAT B 554 -3 283 0 271 -3 112 -3
TEEIE—TH 69 3 42 3 27 0 52 3
TEEIEZTH 39 1 26 0 13 1 34 1
4N 5t 80,412 -69| 38,902 -56 41,510 -13| 31,256 1
AEH]E 155 -2 62 -1 93 -1 82 -1
AEHTA 132 -2 64 -1 68 -1 67 1
AEHTFRE 14 0 4 0 10 0 10 0
A SH]/\BR 140 1 62 1 78 0 65 0
AEHKH 16 0 6 0 10 0 11 0
AEHTEH 85 -1 32 0 53 -1 41 -1
AEH R 14 -1 7 -1 7 0 7 0
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IN=IEO) 42 -1 19 0 23 -1 25 -1
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[LEHTEAR 73 -2 35 0 38 -2 42 -2
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FSH] 50 0 25 0 25 0 34 0
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TEIRET = AR 3,986 -5 1,907 -4 2,079 -1 1,284 0
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ERILIE] FIAESF 2,628 4 1,291 o 1,337 4 843 1
ERILIETER/)N I 2,145 2| 1,071 2| 1,074 0 775 -1
BRI BT PaR T 1,507 12 743 11 764 1 497 3
BRI BT S iF 1,033 -3 492 -4 541 1 349 -2
ERLLIET) 1R 2,307 7\ 1,135 71 1,172 0 774 7
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